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Transfer Function Analysis in Multisim
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2 pe Note the circuit to the left. (R3 is not calculated
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correctly on purpose). Note that the power supply sub-
circuit has been connected in via the bus method as
discussed in a separate tutorial.
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Directly below the Output node is "Output Reference”. You need to make sure
the circuit's ground node (should be O if

[Transfer Function nalysis. connected correctly) here. If this is not
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1 [Transfer function 14739879
w3t Input impedance 1.00008
Output impedance at V($8,$01 6.02953 m
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